3F

4l

BrE D& . BET V& ZWh MAZES =

ZDOAD BDAIC BRE®D A% BT WEJ, =The woman is asking the man the
impressions of the movie.

HWIE 373 ZWh

Z D 5L Tz B#E., = the movie which (X) was talking about the other day
* 55 LT £ = 558 LT Wz = was talking = <plain-style-past-affirmative> of 55 LT WWE 3 =be

talking now
*ZE U £ 9 g1 = speak, talk

* [te form] W& 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>/
%Lu 179 fc = want to see = <pla|n style nonpast-affirmative> of B IC {T& X9 =go to see
* [masu-form] IC 7= X9 / %i@“ / )ﬂa- N %9 =go to do, come to do, return to do
ATLEL? =ATLELED? =

ATY, =[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] A, T9 =...... |

wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... , | really
want to say so ; because ...... — A, can be changed to ®.

+

[plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] TUL & 3 =‘1 Probably ....... 2 .

right? //

You went to see the movie which we were talking about the other day, right?, | wonder.

ED 2o ? =<plain-style> of £5 TUh = how was it? //

Sh. =yes/

9 &< =to agreat extent, to a large extent /

%% = gorgeous, wonderful, splendor, pomp, extravagance

2> 1o =[na-adjective, noun] 72 - 7= = (X) was ~ = <plain-style-past-affirmative> of ‘[na-

adjective, noun] T9’ =is (are, am) //

Yes, (I went to see it) It was very gorgeous.
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LZ‘%%%T: I7 U 7% < T. =notonly costumes (but also ~)

* K3 = costumes, clothing, clothes, garments

*(X) 21F TlE %< T (Y) B =not only (X) but also (Y)

%%bét) = scenery +  (also) /

g’(\ = all, the whole, entirely, in general, wholly /

ﬁﬁwﬁw Eé?i?“ = as far as every nook and corner of the screen

& ch < =anyhow, at any rate, anyway, somehow or other, generally speaking, in any case
%n%% = beautiful, clear /

2 - Iz = [na-adjective, noun] 72 > fc = (X) was ~ = <plain-style-past-affirmative> of ‘[na-
adjective, noun] T9’ =is (are, am) /

&Ko =...., you know? ; ..... | tell you. ; ..... , | am convinced. //

Not only costumes but also sceneries, all, as far as every nook and corner of the serene, are

beautiful at any rate. &

TH, =but/
A k=1 —5 =story + H' <subject particle> /
723, =<used to show the speaker’s strong feeling or emotion> //

I
B> 7T, =%%, LT, =become ~ and ......

* 1& % = <plain-style-nonpast-affirmative> of 72 D £9 g1 = become

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

M—D:’%tc = together /

FEHrk*+UT=rFKF+9I2%, £UT. =throband ...

* K=& R¥9 % = <plain-style-nonpast-affirmative> of K K+ L £ g1 =throb, beat

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

%5%7‘: 5 =if (X) can see, if (X) is able to see
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* B 517z = <plain-style-past-affirmative> of & 5#113& 9 which is the potential-verb (can see,
be able to see) or the passive-verb (be seen) of R & 3 sg2 (see, watch, look)
* [plain-style-past] © = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and I tell

you what happened /
H > & =more

é?ﬁ)\o fc = (X) was good = <plain-style-past-affirmative> of L\W\TT (BWTT) = (X) is good
A T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] A TY ' =...... , | wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to ®.
[7E. =1but 2 <used to show a hesitation> /

4o & =alittle/

%SI%?C =B, LT, =(X)is monotonous (lacking in variety) and .....

* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, [stem of i-adjective] < ’is also used to be more

formal. /
ZFZ EFTUL» Bhofc=<plain-stylesof €22 T Uy HDHDFREFATUL = (X) was not to

that extent, (X) didn’t go that far /
7%, =<used to show the speaker’s strong feeling or emotion. 7335 is more strong expression

than 7&%.>

If I become the feeling of a main character, feel my heart beating and can watch it, (If | can
watch it while becoming the feeling of a main character and feeling my heart beating,) it would

be better, but it was monotonous and was not to that extent (was not so exciting). &

N

RZKBRE & U T 13 = as an entertainment movie + & <topic particle> (N2 No.1) /
bm%;\h = fully, in full, plenty, enough, quite, sufficiently, fairly /

;’?< U 8 % = <plain-style-nonpast-affirmative> of 25 L ) &9 (can enjoy, be able to enjoy) which
is the potential-verb of 2L & X 9 g1 (enjoy) /

%: <quotation particle> /

%\5 = <plain-style-nonpast-affirmative> of B\L\E 9 g1 =1 think /

|7& =1but 2 <used to show a hesitation>

o =....,isN'tit? ; ....., am | right? <confirmation particle> //

| think that you can enjoy it as an entertainment movie .......
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EYNES: ELJDL\‘C ES B>T WEXIH, =What does the man think about the movie?

1

ZWZ5 372U BEbHLS

fRfRb 3= £ b <. % HHB\W = The images (moving pictures) are beautiful and the story is also
interesting.

*ZEZULL, =%ULLKCT =LV, ZULT. =(X)is beautiful and ....
* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, [stem of i-adjective] < ’is also used to be more

formal.
* EHA L = <plain-style-nonpast-affirmative> of EIH L\ T9 = (X) is interesting

* ‘[i-adjective]’ can be the plain-style-nonpast-affimative of ‘[i-adjective] T9. /

2

ZWZ> [FU TchB5 &5

ARfR IS 3 £ b W AN FEIE BEB7Z = The images (moving pictures) are beautiful, but the story is
monotonous.

* ‘[i-adjective]’ can be the plain-style-nonpast-affimative of ‘[i-adjective] T9".
* [na-adjective, noun] 72 = <plain-style-nonpast-affirmative> of ‘{na-adjective, noun] T9’ =

(are, am)
* £ L L) = <plain-style-nonpast-affirmative> of £ U WL\ T = (X) is beautiful

* ‘[i-adjective]’ can be the plain-style-nonpast-affimative of ‘[i-adjective] T9. /

3

ANES BEL  hBES _ _ .

RiRE K<RAW L. 5D B = The images (moving pictures) are not good, and what'’s

more the story is monotonous.
* £ < 7&\LY = (X) is not good = <plain-style-nonpast-negative> of L\W\TF ((X) is good)

* L. =[plain-style] L. =~ and ~, because ~, ~ and what’t more ~, not only ~ but also ~
<often used to list reasons> Yt We can use the polite-style right before U to be more polite.

* [na-adjective, noun] 7Z = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] T9’ =
(are, am) /

4
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&7 U BHLSB

ZW2Z5
BRIRIE &K <@L AN ZEIE EHL = The image (moving pictures) are mot good, but the story is

interesting.
* K < 7xL = (X) is not good = <plain-style-nonpast-negative> of L\WW T3 ((X) is good)

* HHE L) = <plain-style-nonpast-affirmative> of HH WL\ T = (X) is interesting
* ‘[i-adjective]’ can be the plain-style-nonpast-affimative of [i-adjective] T3". /

(zeAN
TLET LIR—=F—NELT WET, =0nTV, the reporter is talking. //

F:
(&L, =Hello,/
Z 55 =this, this way, here /
PrEDLE
LR—% —DILATT, =(X)is Yamamoto who is a reporter //

Hello, this is a reporter, Yamamoto.

< =now /
bzl = 5 W E

FADY KT WD Z D HiIE = this area (region) where | am
* kT W3 = <plain-style-nonpast-affirmative> of €T L\X J = (X) came here and he is here
*3k¥% 9 g3 =come
*[te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
IC <existence particle> /
|& <topic particle> /
ThESITVWDS

N E
YU SIEM &\ S EHiZEEE = the traditional public entertainment called SAKURA KABUKI

(Japanese folk theater in which all roles are played by male actors, Japanese classical drama) /
¥ <subject particle>

*(X) &EWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
H D XTI, =thereis ~, have, exist //

In this area where | am now, there is the traditional public performance called SAKURA
KABUKI.
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SATPLRAVL &S nEL

300 FLL E®d E5E = the history which is over three hundred years /
HY <subject particle> /
HO., =H->T. =HDHFI, £LT. =haveand....

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /

Tt

f < =for along time /

VeV

A& T = Dby people /

a%éub FN T Z7/c = have been being befriended = <plain-style-past-affirmative> of £1L £ T &
X9 (will have been being befriended)

*#HUFENET =be befriended = passive-verb of # U & F£ 9 g1 (befriend, be intimate)

* [te-form] & X9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with

the past tense,) have been doing ... so far
M TI = [plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] ® T =...... |

wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really
want to say so ; because ...... — (D can be changed to A. /

H. =1but 2 <used to show a hesitation> //

(This traditional public entertainment) has the history of over three hundreds years and it has
been liked by people, but

U2
(& = as a matter of fact, in fact, to tell the truth /
ThESITLDS

Z D {cii=#e. = this traditional public entertainment /
Z3FWLe R Z <

ZikERNE T, =because of the lack (shortage, insufficiency) of successors /
Wt &g

—E. =once/
Zh%L

77HthY = continuance + H' <subject particle> /
HY

BRENTE 2 &N H B = <plain-style-nonpast-affirmative> of B RENTc TEMN HDFET =

have ever been feared before
* f& RE N Tz = <plain-style-past-affirmative> of f&.33F 11 £ 9 (be feared) which is the passive-

verb of f&.33¢& K 9 g1 (fear, have misgivings, be doubtful, mistrust)
* [ta-form] Z &HY % D X9 = have ever done ~ before /
A TY, =[plain-style (but, ‘da’ of {na-adjective / noun] da’ becomes ‘na’.)] A, T9 =...... , |

wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... , | really
want to say so ; because ...... — A can be changed to @. //

to tell the truth, there has ever been fear for the continuance of this traditional public
performance for lack of successors.
(lit: to tell the truth, the continuance of this traditional public performance has ever been feared
because of lack of successors.)
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ZDEE. =thattime/

ir‘CLBJﬁ:b“o Tz @ =the one (person) who stood up

* 15 _EHY > fo = stood up = <plain-style-past-affirmative> of 325 _EAYD £9 g1 (stand up) /
M. =1but 2 <used to show a hesitation>/

A é: . = What (a surprlseé)m

1)) ETOJ mT’L D R4 = the senior high school students who commute to a senior

high school in this town
* D = <plain-style-nonpast-affirmative> of @\ & 9" g1 = commute /

2 - fz = [na-adjective, noun] 12 - = = (X) was ~ = <plain-style-past-affirmative> of ‘[na-
adjective, noun] T9’ =is (are, am)
MDTY, =[plain-style (but, ‘da’ of {{na-adjective / noun] da’ becomes ‘na’.)] ® T =...... N

wonder ; ...... , I doubt ; .....,  want to draw your attention ; ....., | want to emphasize ; ....., | really
want to say so ; because ...... — (D can be changed to A. //

The ones who stood up at that time were the senior high school students who commute to a
senior high school in this town. What a surprise!

ThESITVLWDS
=it =8E% = traditional public performance + % <direct-object particle> /

WL &S5
AL, = AL T =AU EXI, £LT. =inherit (succeed) and ....
or A& L £S5, F#ULT. =let’sinheritand .... <volitional-form>

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal.

}t*ifig% = history + %Z <direct-object particle> /

B FENT WE S = let's to inherit (succeed, take over) = volitional-form of [} #f\\ T WE £
9 (continue to inherit (succeed, take over))

* Z(F#EE £ 9 g1 = inherit, succeed, take over

* [te-form] L\E £ 9 = continue to do ~, keep doing ~, carry on doing ~ /

& <quotation particle> /

?5{3%1% = after school /

%l’ﬁ% = practice + Z <direct-object particle> /

%@—c W&EJ, =be piling up

* B E 9 g2 = put something on, pile up, heap up, add, append, repeat //

(They think that) they shall succeed the traditional public entertainment and inherit the history.
And they repeat practicing after school.
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ThESITFLDS FLew

i =8ED =R = the decline of traditional public entertainment + A% <subject particle> /
HI5

B U < 713\ = <plain-style-nonpast-affirmative> of 32 L < 72 L\ TF = (X) is not rare

2

T, =inthe state (situation) that ~ /

252580

2D @ERED EF%/S\ = hard struggles (strenuous efforts) of these senior high school

students
* D = style, manner /

7N
5
BJTH. =town + T <particle which shows the place where the action takes place.> + £ (also)

or even in the town /

< Z 1 HY = this + H' <subject particle> /

EHTOD ET“.E’[% activation of the town /

IC <arrival particle> /

DIEH SR WD = <plain-style> of DIEHD XA H = Doesn’t (X) connect with ~? ; Isn’t (X)
linked with ~7 ; Isn’t (X) connected to ~?, Isn’t (X) related to ~?

* DIRHD FI g1 = be tied together, be linked with, connect with, be connected to /
;chgsn’t this connect with the activation of the town? /

# Z théb - = started to consider = <plain-style-past-affirmative> of & X 86 X 9 (start to

consider)
* [masu-form] %88 X 9 = start to do ~ /

& 2T, = [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’
respectively)] & 3 T3 = (According my academic analysis, ) it looks like that ~ //

In the state that the decline of traditional public entertainments is not rare, towards the hard
struggles of these senior hight school students, in the town also, it looks like that they started to

think ‘Doesn’t this connect with the activation of the town?’ &-

Although the decline of tradition public entertainments are not rare, the people are stimulated by
the hard struggles of the senior hight school students, and even in the town, it looks like that
they started to think whether this activity connects with the activation of the town or not.

Ia{f) R

LIR—%— A ICDWT Ei'( WZE I H. =About what is the reporter mainly conveying

(telling)?
*{=zZ £ 9 g2 = convey, transmit; report, communicate; propagate; teach; bequeath, hand down
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2

’(“_:‘:51:&_\25 ”L\\lj;j .

=R DA = a succession (inheritance) of a traditional public entertainment /
3

2%
ZWHi< HAEWN

RETERED HD I ZDOWT n:ELJT W&, =Atthe university, the teacher is talking about a
certain country.

M:
<l
ZDEIE. = this country + (& <topic particle> /
(AFS
. =now/

FnEn Thhh &

& D A% = a turning point of economics /
oh

rJE,‘

AT WX, =be going out to meet now
* WM Z F I g2 = go out to meet, welcome, accept (e.g. as a member of a group or family),
approach (a certain time, a point in one's life, etc.) //

This country is approaching a turning point of economics now.

<l FWEWE->TA

c__ DED FEFKE%Z = the economic development of this country + Z <direct-object particle> /
iz_T W3 @ [F. =the one (thing) who is supporting now + & <topic particle> /

* X 2 £ 9 g2 = support, prop

* [te form] L& 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

iﬂJ"F = underground basement + |C <existence particle> /

FWZS ThhA U T A

EEINT WS j'% 73 KIRER = the wealthy (rich, plenty, abundant) natural resources which
are buried

* RSN T L% = <plain-style-nonpast-affirmative> of I£& = 11T L X 9 = be being buried
now

*BE S E 9 = be buried = passive-verb of & L £9 g3 (bury)
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* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
T9, =is (are, am, etc) //

The things which support the economic development of this country are the abundant natural
resources which are buried in the underground.

ULH L. =but/
FWZES L iF A
EEENT Wa EIRIC I& =the resources which are buried + IC <existence particle> + (&

<topic particle>
* 8B S 1T L3 = <plain-style-nonpast-affirmative> of & S 11T L X 9 = be being buried

now
*BE S E 9 = be buried = passive-verb of & L £ 9 g3 (bury)

* [te form] W& 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
BE DAY = limit (limits, bounds) + /% <subject particle> /
» D FEI, =thereis ~, have, exist //

But, there is the limit in the resources which are buried.

F7=. =and, also/

<_ CD X X = as (it) is, with keeping this state (situation) /

,\/F?O) %)“Et |7 = only the export of the resources /

i</

fbik%?% L T L3 = <plain-style-nonpast-affirmative> of k%7 L T L\&X 9 = be depending on now
&. =... and naturally (consequently) ~ /

,[éi}%fﬂiﬁé@ ﬁ%ﬁ IC & > T. =by the changes (fluctuations) of the prices of the resources (N2
No.13A)

%%'l%%g;b\ = economic climate + »' <subject particle> /

gé% < = greatly, widely, over a wide area /

ii%éh’t LEWZXT, =toone’s regret, (X) is influenced

*ERINET =be influenced = passive-verb of £/ U £ 9 g3 (influence, affect, impact)

* [te-form] L EWLWEF g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely * ~ te

shimaimasu— ~chaimasu*~de shimaimasu— ~jaimasu//

And if (this country) depends on only the export of the resources like this, the economic climate
will be greatly influenced by the fluctuations of the prices of the resources.
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%< Z T = s0, accordingly, now, then, thereupon /

TS

BAFIL. = government + (& <topic particle> /

LA LD

ﬁﬁ@ i tH T = by (means of) the export of the resources /

51’L7L Eé\?&%\éﬁ = the wealthy (rich, plenty, abundant) foreign money that (X) could get +
’a’: <direct-object particle>
* 8 51z = could get = <plain-style-nonpast-affirmative> of 5 511% 9 g2 (can get, be able to
get) which is the potential-verb of 1§ & 3 g2 (get, gain, obtain, acquire) /
;_Etc_\ = (X) Z Jtic LT, =making (X) the original, making (X) materials, with a capital of (X) /
*ﬁ b L\éfhié%j’ai g%@“é er = the plan which (X) train a new industry

* B9 % = <plain-style-nonpast-affirmative> of B% L £ 9 g3 = train, instruct, coach /
l'r'CL’C‘C W& 9, =be standing (something) up now
* I CEX 9 g2 = stand (something) up, put up, make stand, establish

* 5tEZ 31T 9 = make a plan, plan //

So, the government make the plan that they train (grow) a new industry with a capital of the
abundant foreign money which they was able to get by the export of the resources.

BAEW [ 7RI

n
FTEF D IUD I DWVWT FELT WETH, = What is the teacher talking about as for this

country?

—

ZhC Funtna<
S0 BFEBUR = economic political measures (policy) of the future

* £1% = from now on, hereafter /

2

UL iFh b b < NES

BRI DZEE = the fluctuations of the prices of the resources /

2N L;U/u ib\%or)ctj

i’@"F 5R0D I 2 = the deposits of the underground resources
* 1HE E = deposits, quantities of substances accumulating naturally (e.g. under the ground) /

4

L F A WwLwDZEL LA
EIRO & H{EE = the promotion (acceleration, encouragement, facilitation, spurring on) of the

export of the resources /
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TLETEBDANFELT WET, =The manis talkingon TV,

M:
=B @O A (T [& = surroundings of us + IC <existence particle> + (& <topic particle> /

#H = everyday /

L5 ATR EHY = various sounds /

w®NT WX T =be overflowing now

* BN E 9 g2 = overflow, brim over, flood

A, =1but 2 <used to show a hesitation> //

Various sounds are flooding around us everyday, but

WAL &K TA
A—/X—%° BB [EIC = a supermarket, a restaurant (a shop serving food and drink), etc + I

<arrival particle> /

T o k. =when (X) go/

HE ZyN {Jh" 35/\;7\‘)<<, . . . . .

JED T AT W3 HE%Z =the music which is streaming in the shop

* AT LW 3% = <plain-style-nonpast-affirmative> of Ji#1C L\E 9" = be streaming now

* ML E T g2 = stream, flow (liquid, time, etc.), run (ink), be washed away

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
W L

=
B L 2 &N %D FT =have ever become conscious (aware) of ~ before /
H\ <question particle> //

When you go to a supermarket and a restaurant, have you ever become conscious of the music
which is streaming in the shop?

FEAE D %th = most people, nearly everyone /

%LC = particularly, especially /

3%0: LT LWL = be not caring about now = <plain-style-nonpast-negative> of K,(C LT W=
9 (be caring about now)

* &l UZE 9 = care about, mind (negative nuance), care about, worry, pay undue (amount of)

attention to (something)

& <quotation particle> /
BH

BWEXT, =Ithink/

| think that most people don’t care about it in particular.

12/27



5&5
%5 AEICEK D & =according to a certain investigation (examination, inquiry, survey), /
Rt E» W

AN
Wwo>< D L X% MU HE = when (X) played the slow music
* it U fo = <plain-style-past-affirmative> of it LU &9 g1 (drain, float, shed (blood, tears))
*kp > < D U = <plain-style-past-affirmative> of > < D UL F 9 g3 (relax, ease one's mind

through rest or recreation; slow, reduce speed)
& =(X) & (Y) & T & = comparing (X) with (Y) &=

_ & BN BhY E % W

TVIRD B\ FE%Z iU Tz /BB = when (X) played the music with a quick tempo
* it U fo = <plain-style-past-affirmative> of 7t U &£ 9" g1 (drain, float, shed (blood, tears))

& T, (X) & (Y) & T & = comparing (X) with (Y) &
el IT5ES

KD TEIC %75\ » % Z & =the fact that there are differences (distinctions, gaps) in

customers’ actions (behaviors) /
Y <direct-object particle of oM D £9 g1 (understand)>

%\75\ N X U’, =understood //

When they compared the time when they played the slow music with the time when they played
the music with a quick tempo, they understood (discovered) that there was differences in
customers’ behaviors.

A== & ‘C Li\ = at the supermarket, etc + (& <topic particle> /
o< D L E’E'*%E jﬁ,bﬁ_ i = when (X) played the slow music
* it U fo = <plain-style-past-affirmative> of 7t U &£ 9" g1 (drain, float, shed (blood, tears))
* 1P > < D U = <plain-style-past-affirmative> of > < D U ZX 9 g3 (relax, ease one's mind
through rest or recreation; slow, reduce speed) /
) 7’3‘75\ =(X) D 7'7"75\ = ( ) is more ~ in comparison with other things /
%;b\ a}f@ fEE' i W5 H#Fsﬁ?b‘ = the time when customers stay at the shop + A <subject particle> /
:‘:Ez< #Bmh, =R<GB>7T =K< 72DEI, £LT. =become longer and ....

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /
— the time when customers stay at the shop become longer and ..... /

> 2)

55D kT HY = sales (amount sold) + H' <subject particle> /

D

1% = <plain-style-nonpast-affirmative> of fRUNE 9™ g1 (stretch, extend, make progress,

grow) /

A TZ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {{na-adjective / noun] da’
becomes ‘na’.)] A TY ' =...... , | wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. //

%5 7T9, =|[plain-style] €5 T9 =1hear that ~, | heard that ~ //
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At the supermarket or the place like this, | hear that when they play the slow music (in

comparison with other timings), customers stay at the shop longer and sales go up. 8-

RXFIC. =onthe contrary, /
LS50 WAL &L TH

THIM TEZ £ 54 BAT WD BRE JE = the crowded restaurant (a shop serving food and

drink) such as the one which can form a long queue
*~ &5 7% like ~, such as ~, as an example of ~

* TE % = <plain-style-nonpast-affirmative> of TZ £ 9 sg2 (1 can do, be ableto do 2 be
ready, be completed, be finished)
SEAT W3 = <plain-style-nonpast-affirmative> of JEAC LWEX 9 = be crowded
*JBHET g1 = be crowded
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
C <particle which shows the place where the action takes place.> /
|& <topic particle> / a
TYIRD L; RN ;’E" %3’ Z & TT. = by (means of) playing the music with a quick tempo
* it 9" = <plain-style-nonpast-affirmative> of it U & 9" g1 = drain, draw out; float; shed
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
gr%MO) %l%%’a? = rotation (revolution, turning) of customers — a flow of customers /
§< 9% &M TZE S = <plain-style-nonpast-affirmative> of IR< 95 Z&H TEXTJ =can
make ~ fast
E < 9 % = <plain-style-nonpast-affirmative> of 3R < U £ 9 g3 = make ~ fast
* (A) Z [stem of i-adjective] < UZE T, (A) Z [stem of na-adjective] (C U F I = make (A)

[adjective]
*(A) Z [noun] IC L EX 9 =make (A) [noun]

A T2 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {{na-adjective / noun] da’
becomes ‘na’.)] L T9'=...... , | wonder ; ...... , | doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. //
%379, =|[plain-style] > T9J =1 hear that ~, | heard that ~ //

On the contrary, at the crowded restaurant, | hear that they can make a flow of customers fast
(they can speed up a flow of customers) by playing the music with a quick tempo. 8-

BEZ V&

BOANFZ ED £S5 7 FT—YTEE UT WEITH, = With what kind of theme is the man
talking? — What is the theme of the man’s talk?
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iRVl AyN Z58A

HSED F D ERE = the noise in one’s life /

2
Taan anc o | | |
ERE & FEO E\L = the difference between noise and music /

3
3;4;73‘(] Ep< ;_5&5 A A0 . .
HEE BD {TEID B3R = the relationship between music and customers’ behaviors /

&
>
o
o

s S AHIK
JED FHESE EHZ = the shop’s atmosphere and music /

D53FLS  TAbA D 137

TLETEBED EFfRN ZD I ICTDOWTELT WX, OnTV, the agricultural specialist is
talking about mushroom.

;0) Z IZ [&. = mushrooms + [T <existence particle> + (& <topic particle> /
<A D %%b\ = many kinds (sorts) + A% <subject particle> /

%D £ =thereis ~, have, exist /

HY. =1but 2 <used to show a hesitation>/

Ee]

% HIZ = today + |& <topic particle> /

<D 715{%77%% THd ﬁf&%J = ‘shiitake mushroom’ which is a representative of that

* T, =<plain-style-nonpast-affirmative> of ‘[{na-adjective / noun] T D &£ 9 which is more
formal than ‘[na-adjective / noun] T9 =is (are, am, etc) /

IC DWW = about ~, regarding ~, concerning ~ /

B g% L U fcL\ = <plain-style-nonpast-affirmative> of & 5L U 7L\ T = want to talk (speak)
*®BFEL UEXT = humble-verb of 55U £ 9 g1 =talk, speak

* & [masu-form] U X9 g3 = humble-verb /

%: <quotation particle> /

B
BWEJ, =Ithink /

There are many kinds of mushrooms, but | think that | want to talk about ‘shiitake mushroom’
which is a representative of that (mushrooms). 8-
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LWl
THEEL, (. = ‘shiitake mushroom’ + (& <topic particle> /

'LXQT‘&D%D = fried food /

’? = (X) ¥ (Y) = (X), (Y) and so on (, etc.) /

%‘%% = stew, food cooked in a pot /

VAN t = et cetera, and others, and so forth, and so on /

%?7& ;I)‘jfét: = various dishes + [ <purpose particle>

$HE = cooking, cookery, cuisine /

f%bh’( LWZE 9 = be being used now

* 1% 9 =be used = passive-verb of (ELNE J g2 (use)

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
H. =1but 2 <used to show a hesitation>/

ED L3I =how, in what way /

%\%\ﬁ'% = <plain-style-nonpast-affirmative> of 3% U &£ 9 = cultivate, grow crops /

H <question particle> /

|& <topic particle> /

$HED = (not) so, (not) much, (not) really /

%bl] 51T LWL = be not being known = <plain-style-nonpast-negative> of 15T WX T =

be being known
*H 5N £ =be known = passive-verb of 1D £9 g1 (know)

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
MNE ULNEE A, =[plain-style (‘da’in [na-adjective / noun] da’ becomes ‘na’)] i™H LN EXEBA
= maybe ~ //

‘Shiitake mushrooms’ are used for various dishes such as fried food, food cooked in a pot, etc,
but maybe how they grow will not be known to everybody much.

LWl

’%é?) éb\ #EE % = good quality mushrooms + % <direct-object particle> /

ﬁﬁé%é ICl&. =in order to harvest

* IN#E 9 % = <plain-style-nonpast-affirmative> of X L &£ 3" g3 = harvest, reap, gather in ripe
crops / o

7?73‘: 1?% > %gb\ = the method (way) that (X) use wood (a tree) +

éb\ TU & Do = probably (X) will be good

* [plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] TUL & S =1 Probably ....... :

2 , right? //
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Probably the method that we use wood will be good in order to harvest good quality shiitake
mushrooms.

Z—. =uh,/
LWl

MEE (L. = shiitake mushrooms + |& <topic particle> /

LW EA
MEE B % = shiitake mushroom bacteria + % <direct-object particle> /

=
Rl = wood + [T <recipient particle> /
A2, =fEADIFT. =1BXDIF£d, LT, =plantand ....

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /

e . . .

§z/®% =dryness + % <direct-object particle> /

=

wEF, =# T T, =#FTEXI, £LT. =avoidand .....

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /

Eﬁﬁ%;ﬁé% = sufficient level of humidity + %Z <direct-object particle> /

?C%%’D = <plain-style-nonpast-affirmative> of ff 5 £ 9 g1 (keep, retain, maintain) /

& . =...and naturally (consequently) ~ /

%i‘( & X9, = start to germinate (grow)

* 4 X £9 g2 = grow, germinate

* [te-form] & E 9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with

the past tense,) have been doing ... so far //

Uh, regarding shiitake mushrooms, we plant shiitake mushroom bacteria on wood, avoid
dryness and keep the sufficient level of humidity, and naturally they start to germinate (grow).

gL

£BICT IE. = growth (development, breeding) + IC <purpose particle> + (& <topic particle> /
b1@07 °Chs %bO@%CUJ%F';ﬁ% between 10 degrees Celsius (Centigrade) and 30 degrees Celsius
(Centlgrade) + % <direct-object particle> /

{%’J Z & HY =to keep (keeping) + H' <subject particle> /

* 1—%") = <plain-style-nonpast-affirmative> of {fR 5 £ 9 g1 (keep, retain, maintain) /

g%t 2 N3 = <plain-style-nonpast-affirmative> of ME & Z11F£ 9 (be needed) which is the
passive-verb of ME & UL F¥9 g3 (need, require, necessitate) /

DT, =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] MO T = because ~/*
Basically we use the plain-style right before ‘D ’, however, we can use the polite-style to be

more formal. /
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ﬁ?b‘ ﬂ?b\ L7 éﬂn = <plain-style-nonpast-affirmative> of &M AN #U f= Z=HITYI =

Spring or autumn is the suitable season (for growing shiitake mushrooms)
* @ U 7z = adequate, sufficient, suitable; barely passable, tolerable ¥¢ i& U 7z is the plain-

style-past-affirmative of & U £ 9 g1 = fit, suit, be suitable

* Basically the plain-style of ‘{{na-adjective / noun] T3’ is ‘[na-adjective / noun] 7Z’. However, we
sometimes leave out 7Z.

& <quotation particle> /

%ii@“o = can say, be able to say = potential-verb of EL\E 9 g1 (say) /

Because keeping (shiitake mushrooms) at between 10 degrees and 30 degrees is needed for
growing them,
— Because we need to keep shiitake mushrooms at between 10 degrees and 30 degrees in

order to grow them,
we can say that spring or autumn is the suitable season (for growing shiitake mushrooms). -

=3
4 Z T H5 = after germinating (growing) /
CLpShAT W E

2 8[E &F;'C in about two weeks /

ﬁﬁ%éi( =5 7(% & = the size which (X) can harvest

* IN#& T Z % = can harvest = potential-verb of X% L &9 g3 (harvest, reap, gather in ripe
crops) /

[c/

7% % = <plain-style-nonpast-affirmative> of 7& D £ 9 g1 (become) /

TU & Do =|[plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] TL & 5 =1

Probably ....... b2 e, , right? //

Probably it will become the size that we can harvest in about two weeks after it germinates.

372U

Hh D
HFRD FED T—YI& ﬂT"é‘?J\o = What is the theme of the specialist’s talk?

LWl A5 Ay

0) WL HEE D FE D 7 = how to choose good quality shiitake mushrooms
* (A) @ [masu-form] H 7z = how to do (A), the way of doing (A) /

bL\E_E 1 AN
HEEL D B T A = how to grow shiitake mushrooms /
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LWl B5&5DIESIES
HE D FHIE AL = how to cook shiitake mushrooms, recipe of shiitake mushrooms /

4

LWl F 2 AIESES

HE D #7757 = the way (method) of preserving shiitake mushrooms /

5

ﬁf§< Lpgss> HBAtL “gm

KEFD HBET FEN 5ELT LWE T, =The teacher (professor) is talking in class at the
university. &

M:

A—. =uh,/

EX e

/%\El I& = today + |& <topic particle> /
L &

% IEI = first time /

75/

DT, =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M C = because ~ /*
Basically we use the plain-style right before ‘0 C’, however, we can use the polite-style to be

more formal. /

D o E U_Kil%“; 5@“;4_:_2 _ .

SZHD 2 NBICDWT = about the contents of the lesson of this term (semester) /
hhfch

BB = simply /
TE2HWn

FBHL £ 9, =explain //

Uh, today is the first lesson, so | will explain the contents of the lesson of this semester simply.

LwEss

ZD Tsé%f . =inthis class + & <topic particle> /

SWLA
BRHTD ﬂ—?—?S'ZﬂTI = the latest technology (sciences of the industrial arts, applied sciences;

technical methods and processes) /

IC <recipient particle> /
BEp>5H<

EB UZE I, =pay attention //

We pay attention to the latest technology in this class.

&EE>TH. =although I say/
N EUwD

BlZH T Z = technology + %Z <direct-object particle> /
B
# U < = difficultly /

19/27



&5
€ 2% = <plain-style-nonpast-affirmative> of #t£ 2. &£ 9 g2 = catch, perceive, catch sight of,

grasp /

DTIEERL, =DTlE HDFREFA, ZUT. =itisnotthat ~ and ......

* [nai-form /&L — 78 < T] =don’t do ~ and .... <used to join sentences>/ don’t do ~ and
therefore <used to show a reason> Y LBWT =87 (I2), not LT (IC) /

1"_1_%0) TélgT =in one’s life /

ED K SIT =in what way, how /

P
&3 > T L\ % = <plain-style-nonpast-affirmative> of 3> T \L\K 9 = be useful

1=
* %315 %9 g1 = be useful, be helpful, serve the purpose

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
H\ <question particle> /

%‘C WZE X9, =continue to see

* BE 9 sg2 = see, watch, look

* [te-form] L& E 9 = continue to do ~, keep doing ~, carry on doing ~ //

Although | say so, it is not that we perceive technology difficultly. And we will continue to see

how technology is useful in our life. &

fe&
I Z |£. = for example /

TVNEA
BT =1 —R 7 E T = at the latest news, etc /
Z5hWL h Lehn HAREW

rSks{bits1 DREIRE = the issue of ‘the aged society (elderly society)’
Y <subject particle> /
EtY'O J&:(ff‘Bn’C LWE 9 = be being taken up
*HXUD ElF5 X =the passive-verb (be taken up) of the potential-verb (can take up, be able
to take up) of BXD EIFE 9 g2 (take up, pick up, confiscate) /
Ro =....,isntit? ; ..... , am | right? <confirmation particle> //

For example, the issue of ‘the aged society’ is taken up at the latest news.

Ic 1F A EH W
HADIGE. =inthe case Japan, /
[CEAZUw ShA
2055 ZEIC I& =in 2055 + (& <topic particle> /
SLWWC &S Z5nWLe
65m LD S#iE DY = old people who are over 65 years old + H' <subject particle> /
ChAZS FAUw /=Y K~
{\EI@ 40 % & = 40 percents of the population + Z <direct-object particle> /
B Z % = <plain-style-nonpast-affirmative> of #8 2 £ 9" g2 = exceed, cross over, pass over /

& <quotation particle> /
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& %<
THIENT WX T =be being predicted
* FRIT N FE 9 = be predicted = passive-verb of 381 L £ 9 g3 (predict, prophesy, foretell,

announce in advance) /

H. =1but 2 <used to show a hesitation> /
=1

ZDFFIC = at that time, /

rwe

NEP %EEI*JJ:%_Z = nursing, welfare, etc /

273

8> = <plain-style-nonpast-affirmative> of #NE 9™ g1 = carry on one's shoulder, bear burden /
55E50 &<
5518 71 = labor, work, toil; manpower, working force /

— the manpower which burden nursing, welfare, etc /
% <direct-object particle> /
E> =how/

"< F

MR 9 % = <plain-style-nonpast-affirmative> of #{R L & 9~ g3 = guarantee, vouch for; maintain,

preserve; secure /
H\ <question particle> /

¥ <subject particle> /
HAREW

FIETJ, = (X)is a problem //

In the case of Japan, it is predicted that the old people who are over 65 years old will exceed
forty percents of the population in 2055, but at that time, how we guarantee the manpower who
burden nursing, welfare, etc. is a problem.

Z—. =uh,/

€IT o= so accordingly, now, then, thereupon, therefore /
%%gwo) 25U % =life of old people

*250L

%ié <plain-style-nonpast-affirmative> of 3x 2. &£ 9" g2 = support, prop, uphold, brace,
es

= life, living, livelihood, life circumstances /

pouse /
& <quotation particle> /
Hﬂ}%én’c L% @ = the one (thing) which is being expected that ~
* HiF I T L\ % = <plain-style-nonpast-affirmative> of #iF S 11T L\E J = be being expected
* BAF S N E 9 = be expected = passive-verb of 8iF U £ 9 g3 = expect, hope; await /
Y <subject particle> /

FAZW HDWEDE® S 75 L\ <_~'

IRTE BEFHPO NEOMRY M T, =(X)is the nursing robot which is under development now //

Uh, then, the one which is expected that it will support the life of old people is the nursing robot
which is under development now. 8-
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SWLA NN ECD

E‘?Fﬁo) Bl F T (& = the latest technology + & <topic particle> /

*A?LE D ﬁ&.b_f’éj our life /

t: <recipient particle> /

/71<< deeply /

‘fu()* DL\ T L3 = <plain-style-nonpast-affirmative> of f£0* 2L\ T LWX J = be being

connected now
* #5010 DE £ 9 g1 = be connected, be related; join together

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
DTY, = AL TT, =[plain-style (but, ‘da’ of {na-adjective / noun] da’ becomes ‘na’.)] ® TI

= e , l wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , | want to
emphasize ; ....., | really want to say so ; because ...... — (D can be changed to A. //

The latest is deeply related to our life.

Z—. =uh,/

Tld =the, if that is the case, /

5%\&Ejl |&. =today + (& <topic particle> /

Z D KD 7% =like this, such as this, suchlike, of any such kind /

AR ~ =robot/

IC <purpose particle> /

%bh’( L\ % = <plain-style-nonpast-affirmative> of £1011. T L\E I = be being used

* 1 £ 9 =be used = passive-verb of (ELNEF g1 = use

* [te form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>/
T§Z1T:r ZDWT = about (regarding, concerning) technique, technology; skill, art /

— the technology which is used in a robot like this

%T & 12\ = <plain-style-nonpast-affirmative> of 8T & 72\ T9 = want to try to see, want

to see and see how
* B9 sg2 = see, watch, look

* [te-form] # & 9 =try to do ~, do ~ and see how
* [masu-form] 72W\WT9 = want to do ~ /

é: <quotation particle> /

UL\&@“O = | think //

Uh, then, today, | think that we try to see the technology which is used for a robot like this.
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ThD o =

SZHD Tﬁ%d) T—XIE EDLS Ix 2 & TIH, =What kind of thing is the theme of the
lesson of this semester?

1
WAt < é%\_l{_

BZ0D =% Enma = the latest theory of science /
2

Tuho LR ML ECHD

HSEIT ’RILD RIS = the technology which is useful for our life
* 31D = <plain-style-nonpast-affirmative> of %2325 &9 g1 =% IC L5 X 9 g1 = be useful,
be helpful, serve the purpose /

NYA:F N HAREW
=ki{b*t =D ERE = the issue (problem) of the aged society /

Mo HWED e W

NEOMRY b D FFD 278 = the task (theme, subject) of the development of a nursing robot /

mn b\é BAIR V& BT V& WiF A

REBCUDODAN BOANIC BRZ F'EﬁL\T LWEXJ, =Atthe meeting, the woman is asking the
man’s opinion. //

F:
< Li\ = then, if that is the case, /
Th Li i 9 5

rir‘ﬁ LUWESHDRE] = ‘the establishment of a new shop (store, small retail store)’

& =and/
fj\ b\ < m % W . . . 0l ]

X Z 21—\ DMELIT) [cDUWWT =about (regarding, concerning) ‘a price increase (hike) of

the price of the menu /
Wit h

< EE%’: = opinion + %Z <direct-object particle> /

%ﬁﬁb\ L&, =pleasedoit//

Then, please let state your opinion with relation to ‘the establishment of a new shop’ and ‘the
price increase of the price of the menu’.
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M:

F 9. =first of all, to start with, to begin with, first, firstly, /

LATAIE -5

HESDREICDLT TY =regarding the establishment of a new shop /
M. =1but 2 <used to show a hesitation>/

kYA

FAld = | + (& <topic particle> /

%ﬁ?ﬁiﬁéc: = aggressively, positively /

L < REfZ = <plain-style-nonpast-affirmative> of L\< XZETY = should do
* [dictionary-form] XETY =shoulddo ~ Y 9§25 NETI S I RETY
& <quotation particle> /

MAD

#ZZ %9, =Iconsider //

First of all, regarding the establishment of a new shop, we should go for it aggressively.

5 <
Z D HXI(T [& = this district (area; lot; sector, section) + |C <existence particle> + (& <topic

particle> /
LD
359D LXK Zh =the restaurants which compete + H' <subject particle>

*

&9 % = <plain-style-nonpast-affirmative> of 345 U £ 9 g3 = compete, contest, contend

against another; participate in a contest /
LW < D% =many, great number of /

&% % = <plain-style-nonpast-affirmative> of 3% D &9 g1 (there is ~, have, exist) / there is ~,

have, exist /

DT = DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® T = because
~ / )

ﬂ%_b‘ fc ﬁjjzb“ LYWL\ = <plain-style-nonpast-affirmative> of # |77z 77H% LWWT I = had better avoid
* 8|7 fc = <plain-style-past-affirmative> of i} & 9 g2 = avoid

* [ta-form] (&5 AY LWLWTF = had better do ~ /

EWS %mi % = the way of thinking which is ~

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.)
* (A) @ [masu-form] H7c = how to do (A), the way of doing (A) /

H =also/
TZE % = <plain-style-nonpast-affirmative> of TZ £ 9 sg2 =1 can do, be abletodo 2 be

ready, be completed, be finished /
& <quotation particle> /

b6
BWXY =1 think /
H. =1but 2 <used to show a hesitation> //
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In this district, there are many restaurants which compete, so | think that we can have the way
of thinking that we had better avoid (setting up a new store), but

ZAEEZ MIWEDUELS

ERETD FREZER E = the project of the development of the front of the station, etc /

* 2 = project, enterprise, undertaking, business /

H =also/

%/v'(“ WZE I = be advancing

* ¥EAHF 9 g1 = make progress, proceed, advance, improve, move forward

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

DT, =[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] ® T = because ~

* Basically we use the plain-style right before ‘D C’, however, we can use the polite-style to be

more formal. /
X Za1—¥% B —E X T =by (means of) a menu, a service, etc /

IRD M

=hll{t % = differentiation + % <direct-object particle> /

[Eh

BT &. =if (X) plot = conditional-form of & D &9 g1 = plot, attempt, plan, scheme /

EE%O) %%(1&%1&3 = acquisition (possession) of customers (clients, patrons) + (& <topic particle> /
%il@% ﬁﬁii = the area (region, zone) which (X) can anticipate

* BiA s % = <plain-style-nonpast-affirmative> of B3A £ 9 (can anticipate, be able to
anticipate) which is the potential-verb of RiAH# X 9 g1 (anticipate, estimate, expect) /

2 = [na-adjective, noun] 72 = <plain-style-nonpast-affirmative> of ‘{na-adjective, noun] T9’ =is

(are, am)

& <quotation particle> /
MAD

ZZ %9, =Iconsider //

the project of the development of the front of the station is making progress now, so if we plot
the differentiation by a menu, a service, etc., (this) is the area that we can get more customers.

C. =then,and/

[ ERAN U

£25L&5 < &
HE5—DODFHED "OIXANDERICEZ A= 1 —@RDIELES) ICDWTIE, = about the

price increase of the price of the menu caused by the increase of the cost’ which is another
topic of discussion (agenda) (N2 No.13B)

* 3 =rising, ascending, climbing /

Eolh Fw= E525

FES D 25D EM% = the trend of the recent business condition + % <direct-object particle>
* IS = nowadays, recently, lately

* | % = economic activity; economic condition; business; business climate

* Bi[[) = trend, tendency; movement; attitude /
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Z5h &
EEINIX. =if (X) take in account = conditional-form of Z & U % 9" g3 (take into account,

take into consideration, consider as well) /
B b % =rather, instead /

ﬁ’f%’a“: price + %Z <direct-object particle> /
ifﬂ AT =A%, £LT. =suppress and ..

orflZ % RETYI, ZLT. — & |l will explain later

* 1 2 % = <plain-style-nonpast-affirmative> of # 2. &£ 3 g2 = curb, restrain; suppress; control
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometlmes used to show reason as well. /

1’@0) Q‘ﬁd) F”ﬁ = shops of other companies /

&/

D <possession particle> /

%«/Eﬁ]{bl\ﬁ’& = differentiation + % <direct-object particle> /

%) N ZE fZ = <plain-style-nonpast-affirmative> of X]% ~XZ T3 = should plot

* X% = <plain-style-nonpast-affirmative> of KD &9 g1 = plot, attempt, plan, scheme

* [dictionary-form] XETYJ =shoulddo ~ Y 9§ NRETIT S I RETY

t <quotation particle>/

/h\\/\i@'o = | think //

And regarding ‘the price increase of the price of the menu caused by the increase of the cost
which is another topic of discussion, if we take the trend of the recent business condition into
account, | think that we should lower the price and plan to differentiate (our shop) from the
shops of other companies. | would rather say so.

Be

x@ALi EDS %K’C WE I D =How is the man thinking? — What is the man’s opinion
(thinking, thought, idea)?

ThIE ULAtED

IAEWN
[EEHDFRIC B 1 J:H HEH, = (The man) agrees with both the establishment of a shop
and a price increase. /

2

ThIE UAED . H [FA Ty

[EEDHFHRICH. BELIFICTH KK = (The man) objects to both the establishment of a shop and
a price increase. /

3
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ThIE b/u’é’) AL [FATcy

JEERDHTER (SE M. 1LHH&ﬁ

and objects to a price increase. /

4

ThIE UAED FA TN ShEWN

JEE DRHTERIE R 1EJ:H (FERY =

agree with a price increase.

(The man) agrees with the establishment of a new shop,

(The man) objects to the establishment of a new shop, and
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